

formulas

→ from Laplace Transform

Properties of inverse Laplace Transform:-

$$\textcircled{1} \quad L[t^n] = \frac{n!}{s^{n+1}} \Rightarrow L^{-1}\left[\frac{1}{s^{n+1}}\right] = \frac{t^n}{n!}$$

$$\textcircled{2} \quad L[e^{at}] = \frac{1}{s-a} \Rightarrow L^{-1}\left[\frac{1}{s-a}\right] = e^{at}$$

$$\textcircled{3} \quad L[\sin at] = \frac{a}{s^2+a^2} \Rightarrow L^{-1}\left[\frac{1}{s^2+a^2}\right] = \frac{1}{a} \sin at$$

$$\textcircled{4} \quad L[\cos at] = \frac{s}{s^2+a^2} \Rightarrow L^{-1}\left[\frac{s}{s^2+a^2}\right] = \cos at$$

$$\textcircled{5} \quad L[\sinh at] = \frac{a}{s^2-a^2} \Rightarrow L^{-1}\left[\frac{1}{s^2-a^2}\right] = \frac{1}{a} \sinh at$$

$$\textcircled{6} \quad L[\cosh at] = \frac{s}{s^2-a^2} \Rightarrow L^{-1}\left[\frac{s}{s^2-a^2}\right] = \cosh at$$

$$\textcircled{7} \quad L[1] = \frac{1}{s} \Rightarrow L^{-1}\left[\frac{1}{s}\right] = 1$$

$$\textcircled{8} \quad L[t] = \frac{1}{s^2} \Rightarrow L^{-1}\left[\frac{1}{s^2}\right] = t$$

Examples:-

$$\textcircled{1} \mathcal{L}^{-1} \left[\frac{1}{s-2} \right] = e^{2t}$$

$$\textcircled{2} \mathcal{L}^{-1} \left[\frac{1}{s+3} \right] = e^{-3t}$$

$$\textcircled{3} \mathcal{L}^{-1} \left[\frac{1}{s^6} \right] = \mathcal{L}^{-1} \left[\frac{1}{s^{5+1}} \right] = \frac{t^5}{5!} = \frac{t^5}{120}$$

$$\textcircled{4} \mathcal{L}^{-1} \left[\frac{1}{s^2+4} \right] = \mathcal{L}^{-1} \left[\frac{1}{s^2+(2)^2} \right] \xrightarrow{\text{mult \& div by 2}} \frac{1}{2} \mathcal{L}^{-1} \left[\frac{2}{s^2+(2)^2} \right] = \frac{1}{2} \sin 2t$$

$$\textcircled{5} \mathcal{L}^{-1} \left[\frac{s}{s^2+9} \right] = \mathcal{L}^{-1} \left[\frac{s}{s^2+(3)^2} \right] = \cos 3t \quad 2 \cdot \frac{1}{3} \mathcal{L}^{-1} \left[\frac{3}{s^2-(3)^2} \right]$$

$$\textcircled{6} \mathcal{L}^{-1} \left[\frac{2}{s^2-9} \right] = \mathcal{L}^{-1} \left[\frac{2}{s^2-(3)^2} \right] = 2 \mathcal{L}^{-1} \left[\frac{1}{s^2-(3)^2} \right] = 2 \cdot \frac{1}{3} \sinh 3t$$

$$\textcircled{7} \mathcal{L}^{-1} \left[\frac{1}{s^{3/2}} \right] = \mathcal{L}^{-1} \left[\frac{1}{s^{3/2+1}} \right] \rightarrow \mathcal{L}^{-1} \left[\frac{1}{s^{5/2}} \right]$$

$$= \frac{t^{-3/2}}{3/2!} = \frac{t^{-3/2}}{3/2 \cdot 1/2 \cdot 1!} \quad \frac{3}{2}$$

$$= \frac{4t^{3/2}}{3 \cdot 1!}$$

Properties of Laplace Inverse:-

① Shifting Property:-

If: $L[f(\bar{u})] = F(s)$ then $L[e^{a\bar{t}} f(\bar{u})] = F(s-a)$

Then:

If: $L^{-1}[F(s)] = f(\bar{u})$ then: $L^{-1}[F(s-a)] = e^{a\bar{t}} f(\bar{u})$

e.g:- $L^{-1}\left[\frac{1}{(s+2)^3}\right] = ? = e^{-2\bar{t}} L^{-1}\left[\frac{1}{s^3}\right]$ $\frac{n+1}{2+1}$
 $\rightarrow s=$
 $= e^{-2\bar{t}} \cdot \frac{\bar{t}^2}{2!}$

$$L^{-1}\left[\frac{1}{(s+2)^3}\right] = \boxed{\frac{e^{-2\bar{t}} \cdot \bar{t}^2}{2!}}$$

e.g:- $L^{-1}\left[\frac{s}{s^2+2s+2}\right] = ? = L^{-1}\left[\frac{s}{(s+1)^2+1}\right]$ add & sub 1

$$= L^{-1}\left[\frac{s'}{(s+1)^2+1}\right] \text{ or } L^{-1}\left[\frac{s+1-1}{(s+1)^2+1}\right]$$

$$= L^{-1}\left[\frac{s+1}{(s+1)^2+1}\right] - L^{-1}\left[\frac{1}{(s+1)^2+1}\right]$$

$$= e^{-\bar{t}} \cdot L^{-1}\left[\frac{s}{s^2+1}\right] - e^{-\bar{t}} L^{-1}\left[\frac{1}{s^2+1}\right]$$

$$L^{-1}\left[\frac{s}{s^2+2s+2}\right] = e^{-\bar{t}} \cdot \cos\bar{t} - e^{-\bar{t}} \sin\bar{t}$$
$$= \boxed{e^{-\bar{t}} (\cos\bar{t} - \sin\bar{t})}$$

② Multiply by \bar{t} property - (Derivative in L^{-1})

$$\text{If: } L[\bar{t} f(\bar{t})] = -\frac{d}{ds} F(s)$$

$$\text{Then: } L^{-1}[F(s)] = f(\bar{t}) \quad \& \quad L^{-1}\left[\frac{d}{ds} F(s)\right] = -\bar{t} \cdot f(\bar{t})$$

③ Divide by \bar{t} property - (Integral in L^{-1})

$$\text{If: } L\left[\frac{f(\bar{t})}{\bar{t}}\right] = \int_s^\infty F(s) ds$$

$$\text{Then: } L^{-1}\left[\int_s^\infty F(s) ds\right] = \frac{f(\bar{t})}{\bar{t}}$$

④ Derivative property - (multiply by s in L^{-1})

$$\text{If: } L\left[\frac{d}{dt} f(\bar{t})\right] = sF(s) - f(0)$$

$$\text{Then: } L^{-1}[sF(s)] = \frac{d}{dt} f(\bar{t}) \quad \text{if } \underline{f(0) = 0}$$

\because as: $L^{-1}(\cos t) = \text{not exist.}$

⑤ Integral Property - (Divide by s in L^{-1})

$$\text{If: } L\left[\int_0^{\bar{t}} f(\bar{t}) d\bar{t}\right] = \frac{F(s)}{s}$$

$$\text{Then: } L^{-1}\left[\frac{F(s)}{s}\right] = \int_0^{\bar{t}} f(\bar{t}) d\bar{t}$$

⑥ Shifting property

$$\text{If: } L[e^{a\bar{t}} f(\bar{t})] = F(s-a)$$

$$\text{Then: } L^{-1}[F(s-a)] = e^{a\bar{t}} f(\bar{t})$$

① Partial fraction method:-

Example:-

① Evaluate:

$$\mathcal{L}^{-1} \left[\frac{1}{(s+2)(s-3)} \right] = ?$$

using partial fraction:-

$$\frac{1}{(s+2)(s-3)} = \frac{A}{s+2} + \frac{B}{s-3} \quad \text{--- (1)}$$

$$1 = A(s-3) + B(s+2) \quad \text{--- (2)}$$

put $s=3$ & $s=-2$ into (2) one by one:-

$$\begin{array}{l} \text{at } s=3: - 1 = B(3+2) \\ \text{at } s=-2: - 1 = A(-2-3) \end{array} \quad \left\{ \begin{array}{l} \boxed{B = 1/5} \\ \boxed{A = -1/5} \end{array} \right.$$

putting A & B in (1)-

$$\frac{1}{(s+2)(s-3)} = \frac{-1}{5(s+2)} + \frac{1}{5(s-3)}$$

Taking Laplace Inverse both side:-

$$\mathcal{L}^{-1} \left[\frac{1}{(s+2)(s-3)} \right] = \mathcal{L}^{-1} \left[\frac{-1}{5(s+2)} \right] + \mathcal{L}^{-1} \left[\frac{1}{5(s-3)} \right]$$

$$= \frac{-1}{5} \mathcal{L}^{-1} \left[\frac{1}{s+2} \right] + \frac{1}{5} \mathcal{L}^{-1} \left[\frac{1}{s-3} \right]$$

$$\boxed{\mathcal{L}^{-1} \left[\frac{1}{(s+2)(s-3)} \right] = -\frac{1}{5} e^{-2t} + \frac{1}{5} e^{3t}}$$

Example 1:-

② Evaluate: $L^{-1} \left[\log \frac{s+1}{s-1} \right]$

③ Evaluate:

$$L^{-1} \left[\log \frac{s^2+1}{s(s+1)} \right]$$

Using: $L^{-1} \left[\frac{d}{ds} F(s) \right] = -\bar{t} \cdot f(\bar{t})$

Solutions:-

② Let $F(s) = \log \frac{(s+1)}{(s-1)} = \log(s+1) - \log(s-1)$

diff. both side w.r.t 's'

$$\frac{d}{ds} F(s) = \frac{d}{ds} \left[\log(s+1) - \log(s-1) \right]$$

$$= \left[\frac{1}{s+1} - \frac{1}{s-1} \right]$$

Taking Laplace inverse both sides:-

$$L^{-1} \left[\frac{d}{ds} F(s) \right] = L^{-1} \left[\frac{1}{s+1} - \frac{1}{s-1} \right]$$

$$-\bar{t} f(\bar{t}) = L^{-1} \left[\frac{1}{s+1} \right] - L^{-1} \left[\frac{1}{s-1} \right]$$

$$-\bar{t} f(\bar{t}) = e^{-\bar{t}} - e^{\bar{t}}$$

or: $\underline{f(\bar{t})} = \frac{e^{-\bar{t}} - e^{\bar{t}}}{-\bar{t}}$

$$L^{-1} [F(s)] = \frac{e^{-\bar{t}} - e^{\bar{t}}}{+\bar{t}}$$

So,

$$L^{-1} \left[\log \frac{s+1}{s-1} \right] = \frac{e^{-\bar{t}} - e^{\bar{t}}}{\bar{t}}$$

Evaluate $L^{-1} \left[\log \frac{s^2+1}{s(s+1)} \right]$

Let $F(s) = \log \frac{s^2+1}{s(s+1)}$

$$\log a(b) = \log a + \log b$$

or:

$$\begin{aligned} F(s) &= \log(s^2+1) - \log s(s+1) \\ &= \log(s^2+1) - [\log s^2 + \log(s+1)] \\ &= \log(s^2+1) - \log s - \log(s+1) \end{aligned}$$

diff both side w.r.t s -

$$\frac{d}{ds} F(s) = \frac{d}{ds} [\log(s^2+1) - \log s - \log(s+1)]$$

$$= \frac{1}{s^2+1} (2s) - \frac{1}{s} - \frac{1}{s+1}$$

Taking Laplace inverse both sides -

$$L^{-1} \left[\frac{d}{ds} F(s) \right] = L^{-1} \left[\frac{2s}{s^2+1} \right] - L^{-1} \left[\frac{1}{s} \right] - L^{-1} \left[\frac{1}{s+1} \right]$$

$$- \bar{t} f(\bar{t}) = \frac{2 \cos \bar{t} - 1 - e^{-\bar{t}}}{-\bar{t}}$$

$$f(\bar{t}) = \frac{2 \cos \bar{t} - 1 - e^{-\bar{t}}}{-\bar{t}}$$

or: $L^{-1} [F(s)] = \frac{2 \cos \bar{t} - 1 - e^{-\bar{t}}}{-\bar{t}}$

$$\text{or: } \boxed{L^{-1} \left[\log \frac{s^2+1}{s(s+1)} \right] = \frac{1 + e^{-\bar{t}} - 2 \cos \bar{t}}{\bar{t}}}$$

Properties of Laplace Transform:-

① Time shifting:-

$$L[e^{\pm at} f(\bar{t})] \xrightarrow{L} F(s \mp a)$$

② Multiply by \bar{t} :-

$$L[\bar{t} f(\bar{t})] \longrightarrow -\frac{d}{ds} F(s)$$

③ Divide by \bar{t} :-

$$L\left[\frac{f(\bar{t})}{\bar{t}}\right] \longrightarrow \int_s^{\infty} F(s) ds$$

④ L.T of derivatives:-

$$L\left[\frac{d^n f(\bar{t})}{d\bar{t}^n}\right] \longrightarrow s^n F(s) - s^{n-1} f^{(n-1)}(0) - \dots - s f^{(n-1)}(0)$$

⑤ L.T of integrals:-

$$L\left[\int_0^{\bar{t}} f(\tau) d\tau\right] \longrightarrow \frac{F(s)}{s}$$

⑥ Conjugation:-

$$L[f^*(\bar{t})] \longrightarrow F^*(s^*)$$

⑦ Time reversal:-

$$L[f(-\bar{t})] \longrightarrow F(-s)$$

⑧ Time scaling:-

$$L[f(a\bar{t})] \longrightarrow \frac{1}{|a|} F\left(\frac{s}{a}\right)$$

⑨ Time shifting:-

$$L[f(\bar{u} + \bar{t}_0)] \Rightarrow F(s) e^{-s\bar{t}_0}$$

⑩ Freq. shifting:-

$$L[e^{\pm s_0 \bar{t}} f(\bar{u})] \longrightarrow F(s \mp s_0)$$

⑪ Convolution in time:-

$$\text{If: } L[f_1(\bar{u})] \longrightarrow F_1(s)$$

$$L[f_2(\bar{u})] \longrightarrow F_2(s)$$

$$\text{Then: } L[f_1(\bar{u}) * f_2(\bar{u})] \longrightarrow F_1(s) \cdot F_2(s)$$